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1.

Suppose that the following contingency table was set up:

B B
A 10 30
A 25 35

{a) What was the probability of event A? ~
{b) What was the probability of event & and B*?
{¢) What was the probability of event A’ or B'?

. _Supposs that the manager of a paint supply store wants to estimate the actual
- amount of paint confainad in 1-gallon cans purchased from a nationally known

manufacturer, it is known from the manufacturer®s specifications that the

standard deviation of the amount of paint is equal to 0.02 gallon. A random

sample of 50 cans is selected, and the average amount of paint per 1-galion can

is .995 gallon.

(@) Set up a 99% confidence inferval estimate of the true population average
amount of paint included in a 1-gallon can.

(b) On the basis of your results; do you think that the store awner has a right to
complaitt to the manufacturer? Why?

{c) Does the population amount of paint per-can have to be nﬂrmall}' distributed
here? Explain.

If, in a sample of size n = 16 selected from an underlying normal population, the
sample mean is X = 56 and the sample standard deviation is S = 12, what is the
value of the t-test statistic if we are testing the null hypothesis H that p =502

The personnel director of a large insurance company is inferested in reducing the
turnover rate of data processing clerks in the first year of employment. Past
records indicate that 25% of ali new hires in this area are no longer employed at
the end of 1 year. Extensive new Iraining approaches are implemented for a
sample of 150 new data processing clerks. At the end of a | -year period, 29 of
these individuals are no longer employed.

(2) At.01 level of significance, is there evidence that the proportion of data
processing clerks who have gone through the new training and are no Ionger ﬁ
employed is less than 25%? | 2

(b} Compute the p-value and interpret its meaning,
{c) What is your answer to (a) if 22 of the individuals are no longer employed?
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5. A breeder of thoroughbred horses wishes to model the relationship between the

gestation period and the length of life of a horse.  The breeder believes that the
two variables may follow a linear trend.  The information in the table was
supplied to the breeder from various thoroughbred siables across the state.

Horse  Gestation Period Life Length

x (days) y (years)
1 416 24
2 279 25.5
3 208 20 )
4 307 21.5
5 356 22
6 403 23.5
7 265 21

{a} Fit 2 least squares line to this data.

(b} According to your least squares lirie, approximately how long would you
expect a horse to live whose gestation period was 400 days?

{c) Calculate SS5E

(d) Calculate s°.

. A partially completed ANOVA summary for a completely randomized design is

shown in the table.

Source df 58 MS F
Treatments 6 16.9 £ 3
Error @ @ @

Total 41 452

{2} Complete the ANOVA table.

(&) How many treatments ave involved in the experiment?

(¢) Do the data provide sufficient evidence to indicate a difference among the

~ population means? Test using o =.10. '

(d) Suppose that % = 3.7 and 72 = 4.1. Do the data provide sufficient evidence to
indicate a difference between p; and pp? Assume that there are seven
observations for each treatment, Test using & =.10. .

(¢} Refer to part {d). Find a 90% confidence intervat for (i1 - p2)-

(f) Refer to part (d). Find a 90% confidence interval for {1,

g - ?
CONFIDENCE LEVEL ] i
100(1-¢) ¢ 2 Zun If
-50% 10 .05 1.643
T BS% .05 025 1.96 kN

99 - 01 .005 2.575 .,
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Perceniane Points @i lne £ Disliowion, & = .10
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The Cumulative Standardized Normal Distribution
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